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NEW QUESTION 1
Which two statements about the requirements for a Cisco Hyperlocation deployment are true? (Choose two.)

A. After enabling Cisco Hyperlocation on Cisco CMX, the APs and the wireless LAN controller must be restarted.
B. NTP can be configured, but that is not recommended.

C. The Cisco Hyperlocation feature must be enabled on the wireless LAN controller and Cisco CMX.

D. The Cisco Hyperlocation feature must be enabled only on the wireless LAN controller.

E. If the Cisco CMX server is a VM, a high-end VM is needed for Cisco Hyperlocation deployments.

Answer: AC

NEW QUESTION 2

An engineer must use Cisco AVC on a Cisco WLC to prioritize Cisco IP cameras that use the wireless network. Which element do you configure in a rule?

A. permit-ACL

B. WMM required
C. mark

D. rate-limit

Answer: C

NEW QUESTION 3
Refer to the exhibit.

802.11a(5 GHz) » Media
Video |

Voice | Media |

Call Admission Control (CAC)

Admission Control (ACM) 7| Enabled
CAC Method 4 Load Based ~
Max RF Bandwidth (5-85) (%) |75

Reserved Roaming Bandwidth (0-25) (%) |6 |

Expedited bandwidth

SIP CAC Support 3 [”| Enabled
Per-Call SIP Bandwidth 2

SIP Codec G.711 -
SIP Bandwidth (kbps) |64 |

SIP Voice Sample Interval (msecs) (20 ~

Which two items must be supported on the VOWLAN phones to take full advantage of this WLAN configuration? (Choose two.)

A. TSPEC
B. SIFS

C. 802.11e
D. WMM
E. APSD

Answer: CD

NEW QUESTION 4

A user is trying to connect to a wireless network that is configured for WPA2-Enterprise security using a corporate laptop. The CA certificate for the authentication
server has been installed on the Trusted Root Certification Authorities store on the laptop. The user has been prompted to enter the credentials multiple times, but

the authentication has not succeeded. What is causing the issue?

A. There is an IEEE invalid 802.1X authentication policy on the authentication server.
B. The user Active Directory account is locked out after several failed attempts.

C. There is an invalid 802.1X authentication policy on the authenticator.

D. The laptop has not received a valid IP address from the wireless controller.

Answer: C
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NEW QUESTION 5
A new MSE with wiPS service has been installed and no alarm information appears to be reaching the MSE from controllers. Which protocol must be allowed to
reach the MSE from the controllers?

A. SOAP/XML
B. NMSP

C. CAPWAP
D. SNMP

Answer: A

NEW QUESTION 6
An engineer wants the wireless voice traffic class of service to be used to determine the queue order for packets received, and then have the differentiated
services code point set to match when it is resent to another port on the switch. Which configuration is required in the network?

A. Platinum QoS configured on the WLAN

B. WMM set to required on the WLAN

C. msl qos trust dscp configured on the controller switch port
D. msl gos trust cos configured on the controller switch port

Answer: C

NEW QUESTION 7
For security purposes, an engineer enables CPU ACL and chooses an ACL on the Security > Access Control Lists > CPU Access Control Lists menu. Which kind
of traffic does this change apply to, as soon as the change is made?

A. wireless traffic only

B. wired traffic only

C. VPN traffic

D. wireless and wired traffic

Answer: A

NEW QUESTION 8

An engineer must implement Cisco Identity-Based Networking Services at a remote site using ISE to dynamically assign groups of users to specific IP subnets. If
the subnet assigned to a client is available at the remote site, then traffic must be offloaded locally, and subnets are unavailable at the remote site must be
tunneled back to the WLC. Which feature meets these requirements?

A. learn client IP address

B. FlexConnect local authentication
C. VLAN-based central switching
D. central DHCP processing

Answer: C

NEW QUESTION 9
All APs are receiving multicast traffic, instead of only the APs that need it. What is the cause of this problem?

A. The multicast group includes all APs

B. The wrong multicast address was used

C. The multicast group is assigned the wrong VLAN
D. Multicast IGMP snooping is not enabled

Answer: D

NEW QUESTION 10

An IT team is growing quickly and needs a solution for management device access. The solution must authenticate users from an external repository instead of the
current local on the WLC, and it must also identify the user and determine what level of access users should have. Which protocol do you recommend to achieve
these goals?

A. network policy server
B. RADIUS

C. TACACS+

D. LDAP

Answer: C

NEW QUESTION 10
Which two steps are needed to complete integration of the MSE to Cisco Prime Infrastructure and be able to track the location of clients/rogues on maps? (Choose
two.)

A. Synchronize access points with the MSE.

B. Add the MSE to Cisco Prime Infrastructure using the CLI credentials.

C. Add the MSE to Cisco Prime Infrastructure using the Cisco Prime Infrastructure communication credentials configured during set up.
D. Apply a valid license for Wireless Intrusion Prevention System.

E. Apply a valid license for location tracking.
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Answer: DE

NEW QUESTION 13
When using a Cisco Catalyst 9800 Series Wireless Controller, which statement about AutoQoS is true?

A. It has a set of predefined profiles that you cannot modify further

B. It matches traffic and assigns each matched packet to QoS groups

C. It automates deployment of wired QoS and makes wireless QoS implementation easier
D. It allows the output policy map to put specific QoS queues into specific subgroups

Answer: B

NEW QUESTION 16
An engineer configures a Cisco Aironet 600 Series OfficeExtend AP for a user who works remotely. What is configured on the Cisco WLC to allow the user to print
a printer on his home network?

A. split tunneling

B. SE-connect

C. FlexConnect

D. AP failover priority

Answer: A

Explanation:
Reference: https://www.cisco.com/c/en/us/support/docs/wireless/aironet-602-officeextend-access-point/117540-configure-splittunneloeap-00.html

NEW QUESTION 18
CMX Facebook Wi-Fi allows access to the network before authentication. Which two elements are available? (Choose two.)

A. Allow HTTP traffic only before authentication and block all the traffic.

B. Allow all the traffic before authentication and intercept HTTPS only.

C. Allow HTTPs traffic only before authentication and block all other traffic.
D. Allow all the traffic before authentication and intercept HTTP only.

E. Allow SNMP traffic only before authentication and block all the traffic.

Answer: CD

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/wireless/mse/8-0/CMX_Connect_Engage_Visitor_Connect/Guide/Cisco_CMX_Connect_Engage_Config_Guide
_VC/CMX_Facebook_Wi-Fi.html

NEW QUESTION 19
A wireless engineer needs to implement client tracking. Which method does the angle of arrival use to determine the location of a wireless device?

A. received signal strength
B. triangulation

C. time distance of arrival
D. angle of incidence

Answer: D

Explanation:
Reference: https://www.cisco.com/c/en/us/td/docs/solutions/Enterprise/Mobility/WiFILBS-DG/wifich2.html

NEW QUESTION 20

An engineer is implementing Cisco ldentity-Based Networking on a Cisco AireOS controller. The engineer has two ACLs on the controller. The first ACL, hamed
BASE_ACL, is applied to the corporate_clients interface on the WLC, which is used for all corporate clients. The second ACL, named HR_ACL, is referenced by
ISE in the Human Resources group policy. What is the resulting ACL when a Human Resources user connects?

A. HR_ACL appended with BASE_ACL
B. HR_ACL only

C. BASE_ACL appended with HR_ACL
D. BASE_ACL only

Answer: B
NEW QUESTION 22

A FlexConnect remote office deployment is using five 2702i APs indoors and two 1532i APs outdoors. When a code upgrade is performed and FlexConnect Smart
AP Image Upgrade is leveraged, but no FlexConnect Master AP has been configured, how many image transfers between the WLC and APs will occur?
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Answer: B

The Leader of IT Certification visit - https://www.certleader.com



CertLeader@ 100% Valid and Newest Version 300-430 Questions & Answers shared by Certleader
e — https://www.certleader.com/300-430-dumps.html (60 Q&ASs)

Leader of IT Certifications

NEW QUESTION 26
Which three characteristics of a rogue AP pose a high security risk? (Choose three.)

A. open authentication
B. high RSSI

C. foreign SSID

D. accepts clients

E. low RSSI

F. distant location

Answer: ACD

NEW QUESTION 30
During the EAP process and specifically related to the client authentication session, which encrypted key is sent from the RADIUS server to the access point?

A. WPA key

B. session key

C. encryption key

D. shared-secret key

Answer: B

NEW QUESTION 31
An engineer is configuring multicast for wireless for an all-company video meeting on a network using EIGRP and BGP within a single domain from a single
source. Which type of multicast routing should be implemented?

A. Protocol Independent Multicast Dense Mode
B. Source Specific Multicast

C. Multicast Source Discovery Protocol

D. Protocol Independent Multicast Sparse Mode

Answer: D

NEW QUESTION 33
Which component must be integrated with Cisco DNA Center to display the location of a client that is experiencing connectivity issues?

A. Cisco Hyperlocation Module

B. Wireless Intrusion Prevention System
C. Cisco Connected Mobile Experiences
D. Cisco Mobility Services Engine

Answer: A

NEW QUESTION 37

A Cisco WLC has been added to the network and Cisco ISE as a network device, but authentication is failing. Which configuration within the network device
configuration should be verified?

A. SNMP RO community

B. device interface credentials

C. device ID

D. shared secret

Answer: D

NEW QUESTION 40
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